



Project: Depot Street
 County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate:

Date: 22-Feb-24
 Time: 10:00 AM
 Appropriation:

Name of Bidder: Address of Bidder:	Stark Excavating
Proposal Guarantee Terms:	5% Bid Bond

Item No.	Item	Unit	Quantity	Approved Engineer's Estimate		Stark Excavating	
				Unit Price	Total	Unit Price	Total
20100500	TREE REMOVAL ACRES	ACRE	1.25	\$ 20,000.00	\$ 25,000.00	\$ 24,000.00	\$ 30,000.00
20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	7,901.00	\$ 85.00	\$ 671,585.00	\$ 30.00	\$ 237,030.00
20800150	TRENCH BACKFILL	CU YD	494.00	\$ 65.00	\$ 32,110.00	\$ 25.00	\$ 12,350.00
21000300	GRANULAR EMBANKMENT, SPECIAL	TON	16,197.00	\$ 45.00	\$ 728,865.00	\$ 33.00	\$ 534,501.00
21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	15,802.00	\$ 5.00	\$ 79,010.00	\$ 1.50	\$ 23,703.00
28000400	PERIMETER EROSION BARRIER	FOOT	1,141.00	\$ 10.00	\$ 11,410.00	\$ 3.00	\$ 3,423.00
28000510	INLET FILTERS	EACH	18.00	\$ 600.00	\$ 10,800.00	\$ 150.00	\$ 2,700.00
35100100	AGGREGATE BASE COURSE, TYPE A	TON	4,392.00	\$ 55.00	\$ 241,560.00	\$ 41.00	\$ 180,072.00
35101800	AGGREGATE BASE COURSE, TYPE B 6"	SQ YD	2,532.00	\$ 35.00	\$ 88,620.00	\$ 24.50	\$ 62,034.00
35102000	AGGREGATE BASE COURSE, TYPE B 8"	SQ YD	230.00	\$ 40.00	\$ 9,200.00	\$ 33.00	\$ 7,590.00
40200800	AGGREGATE SURFACE COURSE, TYPE B	TON	91.00	\$ 75.00	\$ 6,825.00	\$ 95.00	\$ 8,645.00
40201000	AGGREGATE FOR TEMPORARY ACCESS	TON	500.00	\$ 75.00	\$ 37,500.00	\$ 76.00	\$ 38,000.00
40800050	INCIDENTAL HOT-MIX ASPHALT SURFACING	TON	39.00	\$ 250.00	\$ 9,750.00	\$ 490.00	\$ 19,110.00
42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	SQ YD	1,002.00	\$ 125.00	\$ 125,250.00	\$ 112.80	\$ 113,025.60
42400100	PORTLAND CEMENT CONCRETE SIDEWALK 4 INCH	SQ FT	5,688.00	\$ 13.00	\$ 73,944.00	\$ 11.80	\$ 67,118.40
42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	SQ FT	7,432.00	\$ 18.00	\$ 133,776.00	\$ 16.50	\$ 122,628.00
42400800	DETECTABLE WARNINGS	SQ FT	149.00	\$ 40.00	\$ 5,960.00	\$ 34.50	\$ 5,140.50
44000100	PAVEMENT REMOVAL	SQ YD	4,702.00	\$ 18.00	\$ 84,636.00	\$ 9.20	\$ 43,258.40
44000500	COMBINATION CURB AND GUTTER REMOVAL	FOOT	223.00	\$ 15.00	\$ 3,345.00	\$ 6.80	\$ 1,516.40
44000600	SIDEWALK REMOVAL	SQ FT	409.00	\$ 5.00	\$ 2,045.00	\$ 2.10	\$ 858.90
44201713	CLASS D PATCHES, TYPE I, 6 INCH	SQ YD	3.00	\$ 200.00	\$ 600.00	\$ 745.00	\$ 2,235.00
44201723	CLASS D PATCHES, TYPE IV, 6 INCH	SQ YD	41.00	\$ 250.00	\$ 10,250.00	\$ 450.00	\$ 18,450.00
44201819	CLASS D PATCHES, TYPE III, 14 INCH	SQ YD	22.00	\$ 350.00	\$ 7,700.00	\$ 574.00	\$ 12,628.00
50104701	REMOVAL OF EXISTING CONCRETE DECK NO. 1	EACH	1.00	\$ 10,000.00	\$ 10,000.00	\$ 10,550.00	\$ 10,550.00
55080050	STORM SEWERS, CLASS B, TYPE 1 12"	FOOT	1,088.00	\$ 110.00	\$ 119,680.00	\$ 74.00	\$ 80,512.00
55080070	STORM SEWERS, CLASS B, TYPE 1 15"	FOOT	155.00	\$ 125.00	\$ 19,375.00	\$ 87.50	\$ 13,562.50
55080120	STORM SEWERS, CLASS B, TYPE 1 24"	FOOT	14.00	\$ 250.00	\$ 3,500.00	\$ 185.00	\$ 2,590.00
55100500	STORM SEWER REMOVAL 12"	FOOT	32.00	\$ 150.00	\$ 4,800.00	\$ 63.00	\$ 2,016.00
56100065	DUCTILE IRON WATER MAIN TEE, 12" X 12"	EACH	1.00	\$ 1,500.00	\$ 1,500.00	\$ 2,000.00	\$ 2,000.00
56100600	WATER MAIN 6"	FOOT	51.00	\$ 180.00	\$ 9,180.00	\$ 97.00	\$ 4,947.00
56100900	WATER MAIN 12"	FOOT	1,528.00	\$ 200.00	\$ 305,600.00	\$ 160.00	\$ 244,480.00
56109100	TAPPING VALVES AND SLEEVES 12"	EACH	1.00	\$ 12,000.00	\$ 12,000.00	\$ 13,700.00	\$ 13,700.00
56109412	DUCTILE IRON WATER MAIN FITTINGS 12" 22.50 DEGREE BEND	EACH	2.00	\$ 2,500.00	\$ 5,000.00	\$ 1,350.00	\$ 2,700.00
56109424	DUCTILE IRON WATER MAIN FITTINGS 12" 45.00 DEGREE BEND	EACH	18.00	\$ 2,500.00	\$ 45,000.00	\$ 1,400.00	\$ 25,200.00
56200300	WATER SERVICE LINE 1"	FOOT	101.00	\$ 190.00	\$ 19,190.00	\$ 59.50	\$ 6,009.50
56500800	DOMESTIC WATER SERVICE BOXES	EACH	3.00	\$ 1,500.00	\$ 4,500.00	\$ 1,500.00	\$ 4,500.00
59300100	CONTROLLED LOW-STRENGTH MATERIAL	CU YD	1,058.00	\$ 110.00	\$ 116,380.00	\$ 100.00	\$ 105,800.00
60100915	PIPE DRAINS 6"	FOOT	16.00	\$ 175.00	\$ 2,800.00	\$ 118.00	\$ 1,888.00
60100925	PIPE DRAINS 8"	FOOT	8.00	\$ 200.00	\$ 1,600.00	\$ 134.00	\$ 1,072.00
60218300	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, OPEN LID	EACH	4.00	\$ 5,000.00	\$ 20,000.00	\$ 4,850.00	\$ 19,400.00
60219300	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 11 FRAME AND GRATE	EACH	1.00	\$ 5,000.00	\$ 5,000.00	\$ 5,050.00	\$ 5,050.00
60234200	INLETS, TYPE A, TYPE 1 FRAME, OPEN LID	EACH	1.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00
60240310	INLETS, TYPE B, TYPE 11 FRAME AND GRATE	EACH	1.00	\$ 3,000.00	\$ 3,000.00	\$ 4,800.00	\$ 4,800.00
60260100	INLETS TO BE ADJUSTED	EACH	2.00	\$ 1,250.00	\$ 2,500.00	\$ 1,100.00	\$ 2,200.00
60500040	REMOVING MANHOLES	EACH	1.00	\$ 1,500.00	\$ 1,500.00	\$ 2,800.00	\$ 2,800.00
60500060	REMOVING INLETS	EACH	2.00	\$ 1,500.00	\$ 3,000.00	\$ 850.00	\$ 1,700.00
60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	4,521.00	\$ 65.00	\$ 293,865.00	\$ 61.40	\$ 277,589.40
60608300	COMBINATION CONCRETE CURB AND GUTTER, TYPE M-2.12	FOOT	1,293.00	\$ 75.00	\$ 96,975.00	\$ 54.60	\$ 70,597.80
60619200	CONCRETE MEDIAN, TYPE SB-0.06	SQ FT	81.00	\$ 90.00	\$ 7,290.00	\$ 93.90	\$ 7,605.90
66900530	SOIL DISPOSAL ANALYSIS	EACH	15.00	\$ 1,500.00	\$ 22,500.00	\$ 1,470.00	\$ 22,050.00
66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	L SUM	1.00	\$ 2,600.00	\$ 2,600.00	\$ 2,230.00	\$ 2,230.00
66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	L SUM	1.00	\$ 2,900.00	\$ 2,900.00	\$ 2,230.00	\$ 2,230.00
66901006	REGULATED SUBSTANCES MONITORING	CAL DA	30.00	\$ 1,400.00	\$ 42,000.00	\$ 1,150.00	\$ 34,500.00
67100100	MOBILIZATION	L SUM	1.00	\$ 550,000.00	\$ 550,000.00	\$ 600,000.00	\$ 600,000.00
70300100	SHORT TERM PAVEMENT MARKING	FOOT	500.00	\$ 3.00	\$ 1,500.00	\$ 1.70	\$ 850.00
70300150	SHORT TERM PAVEMENT MARKING REMOVAL	SQ FT	167.00	\$ 6.00	\$ 1,002.00	\$ 1.95	\$ 325.65
70306120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE III TAPE	FOOT	1,000.00	\$ 2.00	\$ 2,000.00	\$ 1.70	\$ 1,700.00
70306210	TEMPORARY PAVEMENT MARKING - LINE 24" - TYPE III TAPE	FOOT	100.00	\$ 12.00	\$ 1,200.00	\$ 18.50	\$ 1,850.00
72000100	SIGN PANEL - TYPE 1	SQ FT	72.25	\$ 50.00	\$ 3,612.50	\$ 48.70	\$ 3,518.58
72800100	TELESCOPING STEEL SIGN SUPPORT	FOOT	81.50	\$ 30.00	\$ 2,445.00	\$ 18.80	\$ 1,532.20
73100100	BASE FOR TELESCOPING STEEL SIGN SUPPORT	EACH	3.00	\$ 400.00	\$ 1,200.00	\$ 380.40	\$ 1,141.20
78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	37.00	\$ 15.00	\$ 555.00	\$ 12.20	\$ 451.40
78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	8,719.00	\$ 3.00	\$ 26,157.00	\$ 3.85	\$ 33,568.15
78009008	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	FOOT	332.00	\$ 8.00	\$ 2,656.00	\$ 7.70	\$ 2,566.40
78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	70.00	\$ 25.00	\$ 1,750.00	\$ 22.40	\$ 1,568.00
78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	SQ FT	1,500.00	\$ 3.00	\$ 4,500.00	\$ 5.00	\$ 7,500.00
80400100	ELECTRIC SERVICE INSTALLATION	EACH	1.00	\$ 10,000.00	\$ 10,000.00	\$ 9,130.00	\$ 9,130.00
81028310	UNDERGROUND CONDUIT, PVC, 3/4" DIA.	FOOT	250.00	\$ 4.00	\$ 1,000.00	\$ 27.40	\$ 6,850.00
81028350	UNDERGROUND CONDUIT, PVC, 2" DIA.	FOOT	1,700.00	\$ 22.50	\$ 38,250.00	\$ 34.50	\$ 58,650.00
81028390	UNDERGROUND CONDUIT, PVC, 4" DIA.	FOOT	2,066.00	\$ 30.00	\$ 61,980.00	\$ 40.60	\$ 83,879.60
81028730	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1 1/4" DIA.	FOOT	7,500.00	\$ 16.00	\$ 120,000.00	\$ 33.00	\$ 247,500.00
81400700	HANDHOLE, PORTLAND CEMENT CONCRETE	EACH	26.00	\$ 3,000.00	\$ 78,000.00	\$ 3,550.00	\$ 92,300.00
81702100	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/16 NO. 12	FOOT	250.00	\$ 1.20	\$ 300.00	\$ 4.60	\$ 1,150.00
81702110	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/16 NO. 10	FOOT	21,500.00	\$ 2.00	\$ 43,000.00	\$ 4.60	\$ 98,900.00
81702130	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/16 NO. 6	FOOT	50.00	\$ 5.00	\$ 250.00	\$ 3.35	\$ 167.50
81702150	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/16 NO. 2	FOOT	150.00	\$ 7.00	\$ 1,050.00	\$ 4.10	\$ 615.00
82110003	LUMINAIRE, LED, ROADWAY, OUTPUT DESIGNATION C	EACH	48.00	\$ 1,200.00	\$ 57,600.00	\$ 3,150.00	\$ 151,200.00
82110005	LUMINAIRE, LED, ROADWAY, OUTPUT DESIGNATION E	EACH	42.00	\$ 1,500.00	\$ 63,000.00	\$ 1,065.00	\$ 44,730.00
83000026	LIGHT POLE, ALUMINUM, 18 FT. M.H., 2-8 FT. MAST ARM	EACH	34.00	\$ 3,000.00	\$ 102,000.00	\$ 5,833.00	\$ 198,322.00
83600200	LIGHT POLE FOUNDATION, 24" DIAMETER	FOOT	383.00	\$ 350.00	\$ 134,050.00	\$ 304.40	\$ 116,585.20
83800105	BREAKAWAY DEVICE, TRANSFORMER BASE, 11.5 INCH BOLT CIRCLE	EACH	34.00	\$ 1,250.00	\$ 42,500.00	\$ 2,029.00	\$ 68,986.00
83800650	BREAKAWAY DEVICE, COUPLING WITH STAINLESS STEEL SCREEN	EACH	96.00	\$ 500.00	\$ 48,000.00	\$ 152.20	\$ 14,611.20
84200500	REMOVAL OF LIGHTING UNIT, SALVAGE	EACH	1.00	\$ 1,000.00	\$ 1,000.00	\$ 2,840.00	\$ 2,840.00



Project: Depot Street - Alt A

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate:

Date: 22-Feb-24
 Time: 10:00 AM
 Appropriation:

Name of Bidder: Address of Bidder:	Stark Excavating
Proposal Guarantee: Terms:	5% Bid Bond
Approved Engineer's Estimate	

Attended By:

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	13,965.00	\$ 20.00	\$ 279,300.00	\$ 35.60	\$ 497,154.00
30300011	AGGREGATE SUBGRADE IMPROVEMENT	TON	0.00	\$ 50.00	\$ -		\$ -
31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	SQ YD	15,713.00	\$ 20.00	\$ 314,260.00	\$ 12.50	\$ 196,412.50
35300105	PORTLAND CEMENT CONCRETE BASE COURSE 6 1/4"	SQ YD	0.00	\$ 65.00	\$ -		\$ -
40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	0.00	\$ 2.00	\$ -		\$ -
40600295	POLYMERIZED BITUMINOUS MATERIALS (TACK COAT)	POUND	0.00	\$ 3.00	\$ -		\$ -
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	0.00	\$ 140.00	\$ -		\$ -
40604150	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	0.00	\$ 150.00	\$ -		\$ -
42000100	PORTLAND CEMENT CONCRETE PAVEMENT 6"	SQ YD	8,884.00	\$ 65.00	\$ 577,460.00	\$ 68.85	\$ 611,663.40
42000301	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	3,448.00	\$ 80.00	\$ 275,840.00	\$ 92.75	\$ 319,802.00
42001300	PROTECTIVE COAT	SQ YD	14,578.00	\$ 2.00	\$ 29,156.00	\$ 0.40	\$ 5,831.20
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	21,866.00	\$ 75.00	\$ 1,639,950.00	\$ 60.25	\$ 1,317,426.50



Project: Depot Street - Alt B

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate:

Date: 22-Feb-24
 Time: 10:00 AM
 Appropriation:

Name of Bidder: Address of Bidder:	Stark Excavating
Proposal Guarantee: Terms:	5% Bid Bond
Approved Engineer's Estimate	

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	15,135.00	\$ 20.00	\$ 302,700.00	\$ 35.60	\$ 538,806.00
30300011	AGGREGATE SUBGRADE IMPROVEMENT	TON	5,311.00	\$ 50.00	\$ 265,550.00	\$ 42.00	\$ 223,062.00
31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	SQ YD	6,386.00	\$ 20.00	\$ 127,720.00	\$ 19.90	\$ 127,081.40
35300105	PORTLAND CEMENT CONCRETE BASE COURSE 6 1/4"	SQ YD	0.00	\$ 65.00	\$ -		\$ -
40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	19,991.00	\$ 2.00	\$ 39,982.00	\$ 1.00	\$ 19,991.00
40600295	POLYMERIZED BITUMINOUS MATERIALS (TACK COAT)	POUND	6,397.00	\$ 3.00	\$ 19,191.00	\$ 1.40	\$ 8,955.80
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	1,244.00	\$ 140.00	\$ 174,160.00	\$ 163.00	\$ 202,772.00
40604150	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	995.00	\$ 150.00	\$ 149,250.00	\$ 165.00	\$ 164,175.00
42000100	PORTLAND CEMENT CONCRETE PAVEMENT 6"	SQ YD	0.00	\$ 65.00	\$ -		\$ -
42000301	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	3,448.00	\$ 80.00	\$ 275,840.00	\$ 92.75	\$ 319,802.00
42001300	PROTECTIVE COAT	SQ YD	5,694.00	\$ 2.00	\$ 11,388.00	\$ 0.40	\$ 2,277.60
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	23,036.00	\$ 75.00	\$ 1,727,700.00	\$ 60.25	\$ 1,387,919.00



Project: Depot Street - Alt C

County: Peoria

Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761

Section: _____

Estimate: _____

Date: 22-Feb-24

Time: 10:00 AM

Appropriation: _____

Name of Bidder: Address of Bidder:	Stark Excavating
Proposal Guarantee: Terms:	5% Bid Bond
Approved Engineer's Estimate	

Attended By: _____

Item No.	Item	Unit	Quantity	Approved Engineer's Estimate		Stark Excavating	
				Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	13,995.00	\$ 20.00	\$ 279,900.00	\$ 35.60	\$ 498,222.00
30300011	AGGREGATE SUBGRADE IMPROVEMENT	TON	0.00	\$ 50.00	\$ -		\$ -
31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	SQ YD	15,713.00	\$ 20.00	\$ 314,260.00	\$ 12.50	\$ 196,412.50
35300105	PORTLAND CEMENT CONCRETE BASE COURSE 6 1/4"	SQ YD	3,448.00	\$ 65.00	\$ 224,120.00	\$ 72.90	\$ 251,359.20
40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	0.00	\$ 2.00	\$ -		\$ -
40600295	POLYMERIZED BITUMINOUS MATERIALS (TACK COAT)	POUND	2,483.00	\$ 3.00	\$ 7,449.00	\$ 1.70	\$ 4,221.10
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	0.00	\$ 140.00	\$ -		\$ -
40604150	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	387.00	\$ 150.00	\$ 58,050.00	\$ 182.50	\$ 70,627.50
42000100	PORTLAND CEMENT CONCRETE PAVEMENT 6"	SQ YD	8,884.00	\$ 65.00	\$ 577,460.00	\$ 68.85	\$ 611,663.40
42000301	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	0.00	\$ 80.00	\$ -		\$ -
42001300	PROTECTIVE COAT	SQ YD	11,130.00	\$ 2.00	\$ 22,260.00	\$ 0.40	\$ 4,452.00
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	21,896.00	\$ 75.00	\$ 1,642,200.00	\$ 60.25	\$ 1,319,234.00



Project: Depot Street - Alt D

County: Peoria
 Local Agency: City of Peoria, 3505 N. Dries Ln, Peoria IL 61761
 Section:
 Estimate:

Date: 22-Feb-24
 Time: 10:00 AM
 Appropriation:

Name of Bidder: Address of Bidder:	Stark Excavating
Proposal Guarantee: Terms:	5% Bid Bond
Approved Engineer's Estimate	

Item No.	Item	Unit	Quantity	Unit Price	Total	Unit Price	Total
20200100	EARTH EXCAVATION	CU YD	15,165.00	\$ 20.00	\$ 303,300.00	\$ 35.60	\$ 539,874.00
30300011	AGGREGATE SUBGRADE IMPROVEMENT	TON	5,311.00	\$ 50.00	\$ 265,550.00	\$ 42.00	\$ 223,062.00
31101200	SUBBASE GRANULAR MATERIAL, TYPE B 4"	SQ YD	6,386.00	\$ 20.00	\$ 127,720.00	\$ 19.90	\$ 127,081.40
35300105	PORTLAND CEMENT CONCRETE BASE COURSE 6 1/4"	SQ YD	3,448.00	\$ 65.00	\$ 224,120.00	\$ 72.90	\$ 251,359.20
40600275	BITUMINOUS MATERIALS (PRIME COAT)	POUND	19,991.00	\$ 2.00	\$ 39,982.00	\$ 1.00	\$ 19,991.00
40600295	POLYMERIZED BITUMINOUS MATERIALS (TACK COAT)	POUND	8,880.00	\$ 3.00	\$ 26,640.00	\$ 1.44	\$ 12,787.20
40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	1,244.00	\$ 140.00	\$ 174,160.00	\$ 163.00	\$ 202,772.00
40604150	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "C", N50	TON	1,382.00	\$ 150.00	\$ 207,300.00	\$ 173.00	\$ 239,086.00
42000100	PORTLAND CEMENT CONCRETE PAVEMENT 6"	SQ YD	0.00	\$ 65.00	\$ -		\$ -
42000301	PORTLAND CEMENT CONCRETE PAVEMENT 8" (JOINTED)	SQ YD	0.00	\$ 80.00	\$ -		\$ -
42001300	PROTECTIVE COAT	SQ YD	2,246.00	\$ 2.00	\$ 4,492.00	\$ 0.40	\$ 898.40
66900200	NON-SPECIAL WASTE DISPOSAL	CU YD	23,066.00	\$ 75.00	\$ 1,729,950.00	\$ 60.25	\$ 1,389,726.50